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Sub questions

Question Number : 1 Question Id : 68634039297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A @1 fgeiest &1 et g1 e € -

1. 7Iiq arel &

2. UgadHl & s Bt

. JeqdH @i glad &l
4. wTforar &t

Options :

686340155201. 1

686340155202. 2

686340155203. 3
686340155204. 4
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Question Number : 2 Question Id : 68634039298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ag HoilaH! Sifa & w=edl o, fraes i s g
1. 3 31 faafifie
2. qeg-fag ol

-

3. UgddE @l glad

. T1id & ol & ferg
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Options :

686340155205. 1
686340155206. 2
686340155207. 3
686340155208. 4

Question Number : 3 Question Id : 68634039299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
§e-ad-adrHl Bl il & 3 o1 A= Al 62

1. 0 BT faHifeeT
2. I 1 ERG
3. Folia=T fad
4. Te - Wfad

Options :

6863401552009. 1

686340155210. 2

686340155211. 3
686340155212. 4

Question Number : 4 Question Id : 68634039300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g IS S U2
1. 71d & aFT
2. Ugdar & §e
3. 9= §¢ - 9la
4. TXd gU wroft
Options :
686340155213. 1
686340155214, 2
686340155215. 3

686340155216. 4

Question Number : 5 Question Id : 68634039301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340155217. 1
686340155218. 2
686340155219. 3
686340155220. 4

Question Id : 68634039296 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634039297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
A @1 fgeiest &1 et g1 e € -

1. 7Iiq arel &

2. UgadHl & s Bt

. JeqdH @i glad &l
4. wTforar &t

Options :

686340155201. 1

686340155202. 2

686340155203. 3
686340155204. 4
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Question Number : 2 Question Id : 68634039298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340155205. 1
686340155206. 2
686340155207. 3
686340155208. 4

Question Number : 3 Question Id : 68634039299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g¢-g=-SdH| DI i1l & SN T A= Tl 87

1. 0 B faifdenn
2. WA DI
3. Goila-! wfdd
4. TGEA - Qi

Options :

686340155209. 1

686340155210. 2

686340155211. 3
686340155212. 4

Question Number : 4 Question Id : 68634039300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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. JEqdH & §¢
3. 9= §g - §la
4. FIXd gU UIof!

Options :



686340155213. 1
686340155214. 2
686340155215. 3
686340155216. 4

Question Number : 5 Question Id : 68634039301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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. JYER - 9 - fag
RESHE]

3. 3fgd

c

4, §e-a= 3R §aH

il
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Options :

686340155217. 1
686340155218. 2
686340155219. 3
686340155220. 4

Sub-Section Number : 2
Sub-Section Id : 6863401293
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634039302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS| GERTT A TG @1 gl & 3R off@ & SN I T8 <) 9udd 964 @1 Pal | g 2
1, it &t
2. 3G & ZAR Y
3. 964 @ Fal
4. gol aghar
Options :
686340155221. 1
686340155222. 2

686340155223. 3
686340155224. 4

Question Number : 6 Question Id : 68634039302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2 A HZIRY
3. 96 Pl Bl
4. g9t SgRaT

Options :

686340155221. 1
686340155222. 2
686340155223. 3
686340155224. 4

Question Number : 7 Question Id : 68634039303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"SRt T Ty SEHR § Wgifthd W &©f ol I &

1. 99 + oy
2. FiE + 40

3. I + 30T
4. FH + THOT

Options :

686340155225. 1
686340155226. 2
686340155227. 3
686340155228. 4

Question Number : 7 Question Id : 68634039303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 59 + fayor
2. TIET + 407

3. IHT + 3T
4. |IH + BT

Options :

686340155225. 1
686340155226. 2
686340155227. 3
686340155228. 4

Question Number : 8 Question Id : 68634039304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Td A1 I AT Fax BT HERT TR WR-R-R H DR 87
1. 3TUY 3OPR
2. BN SEBR
3. 30 ATADPR
4. Sfq=hife SEPR

Options :

686340155229. 1
686340155230. 2
686340155231. 3
686340155232. 4

Question Number : 8 Question Id : 68634039304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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Options :

686340155229. 1
686340155230. 2
686340155231. 3
686340155232. 4

Question Number : 9 Question Id : 68634039305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3, feER

 HT-ART

Options :

686340155233. 1
686340155234. 2
686340155235. 3
686340155236. 4
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Question Number : 9 Question Id : 68634039305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘oo Bt 3T Bt el gEril H v ol fadie
1. AH-gHH
UH-YIg
3, feER
UTE-FRI

Options :
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686340155233. 1
686340155234. 2
686340155235. 3
686340155236. 4

Question Number : 10 Question Id : 68634039306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UG GTET BT Y] §ojg UT" H do[g ol waigdrH! o

RN

2. Ugdid
3. TR

4. Siq-slel

Options :

686340155237. 1
686340155238. 2
686340155239. 3
686340155240. 4

Question Number : 10 Question Id : 68634039306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
" 51 T 3T §9lg U1 H S5 1 ugiars! &:

1. %iE?]
2. YgdlH
3, TRR
4, :§ E’!_S[ﬂ

Options :

686340155237. 1

686340155238. 2

686340155239. 3
686340155240. 4

Question Number : 11 Question Id : 68634039307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340155241. 1
686340155242. 2
686340155243. 3
686340155244. 4

Question Number : 11 Question Id : 68634039307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.83

.18
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4.4
Options :
686340155241. 1
686340155242. 2

686340155243. 3
686340155244. 4

Question Number : 12 Question Id : 68634039308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TaY 951 THT TaTs J1d B, forgeT Iuhi 16 H 65 I, o 1 311 4 7 o5 i &1 dars o1 99+ & fag
fopaT off ST 5|

1. 16 Hf

.95 JHt
3. 65 94t
4. 45 Tl

[ ]



Options :

686340155245. 1
686340155246. 2
686340155247. 3
686340155248. 4

Question Number : 12 Question Id : 68634039308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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feraT off gaar 8 |

16 Hl
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Options :
686340155245. 1
686340155246. 2

686340155247. 3
686340155248. 4
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Question Number : 13 Question Id : 68634039309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

15 UOR[ & 3ichl BT ST 42 B Ued & UURI & 37! &1 3119 45 ©. 30 3ifdd s Ui &7 3 Td 36 ©
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0

2. 16
5. 17
4.18

Options :

686340155249. 1
686340155250. 2
686340155251. 3
686340155252. 4

Question Number : 13 Question Id : 68634039309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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L
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Options :

686340155249. 1
686340155250. 2
686340155251. 3
686340155252. 4

Question Number : 14 Question Id : 68634039310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1 SIb! 31 T 3FUTd 1 B2

1.2:5

| ]
| B
L]

3.34
4, 5:7

Options :

686340155253. 1
686340155254. 2
686340155255. 3
686340155256. 4

Question Number : 14 Question Id : 68634039310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340155253. 1
686340155254. 2
686340155255. 3
686340155256. 4

Question Number : 15 Question Id : 68634039311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I AR AL 7 3.600 T U BT G- 1 @1 od & | T, 3P 6 341 H 59 T B 9obdl o | Faid 7,
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1. 1350

|

. 900
3. 1200
4. 450

Options :

686340155257. 1
686340155258. 2
686340155259. 3
686340155260. 4

Question Number : 15 Question Id : 68634039311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340155257. 1
686340155258, 2

686340155259. 3
686340155260. 4

Question Number : 16 Question Id : 68634039312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340155261. 1
686340155262. 2
686340155263. 3
686340155264. 4

Question Number : 16 Question Id : 68634039312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340155261. 1
686340155262. 2
686340155263. 3
686340155264. 4

Question Number : 17 Question Id : 68634039313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe foedt Ry $is 1. 15780 1 EGKPT foral &aT 8. 317 2436 BT ALUR foRar Sma1 8 af 24530 & gt
Pl ¥ o1 forar =g 2
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Options :

686340155265. 1
686340155266. 2
686340155267. 3
686340155268. 4

Question Number : 17 Question Id : 68634039313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. ALGUT
4. ALGRT
Options :
686340155265 1
686340155266. 2

686340155267. 3
686340155268. 4

Question Number : 18 Question Id : 68634039314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YT (i) T O e
(if) TS Yol F Tl 61
(i) Gl ST R B
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Options :
686340155269 1
686340155270. 2

686340155271. 3
686340155272. 4



Question Number : 18 Question Id : 68634039314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HYF (i) T il el 8
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Options :

686340155269. 1
686340155270. 2
686340155271. 3
686340155272. 4

Question Number : 19 Question Id : 68634039315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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afeam-1
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7 Bt s B |H
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Options :

686340155273. 1
686340155274. 2
686340155275. 3
686340155276. 4

Question Number : 19 Question Id : 68634039315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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6 [H[s E[T [B
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Options :

686340155273. 1
686340155274. 2
686340155275. 3
686340155276. 4

Question Number : 20 Question Id : 68634039316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3{US] ; STHIE
1.ty T
. faremelt : e
TS H{eaT
g f s adq
Options :
686340155277. 1
686340155278. 2

686340155279. 3
686340155280. 4
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Question Number : 20 Question Id : 68634039316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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HHUST : AR
1. 91¢ : el
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Options :
686340155277. 1
686340155278. 2

686340155279. 3
686340155280. 4
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Question Number : 21 Question Id : 68634039317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. =94 36
TG 39
3. TG 40
4. AT 48
Options :
686340155281. 1
686340155282. 2

686340155283. 3
686340155284. 4

[ ]

Question Number : 21 Question Id : 68634039317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR Hlaur & f6d sr=sa H Y=rad 6l &1 H] 6] Wae= ¢ 2
1. =54 36
 3T=54 39
3. AT 40
4. TG 48
Options :
686340155281. 1
686340155282. 2

686340155283. 3
686340155284. 4

| ]

Question Number : 22 Question Id : 68634039318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=i 1 1 g= 11 ¥ e S

A1 T
(TP &1 A1) (ﬁvﬁﬁrm
A My Truth . [FEET
B. |The Broken Wings 11 [31ad i
C. My Experiments with Truth| 111 [SRIGH] A58
D. [Exam Warriors V. [43< Tid]
fFrafeiad faeedl & 9 98t STR & 999 S ;

1. A-IV, B-III. C-I. D-IT

| ]

CA-IIL B-IL C-1, D-IV
3. AL B-IIL C-L D-IV
4. AL B-IIL. C-IV. D-I

Options :

686340155285. 1
686340155286. 2
686340155287. 3
686340155288. 4

Question Number : 22 Question Id : 68634039318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

it 1 1 gl 11 ¥ e Sifsg
el 1 e 10
(TP BT TH) (ﬁ@ﬁmqm)

A My Truth e Tl

B. |The Broken Wings 11 [Efer s

C. My Experiments with Truth 111, [H4 EElE g

D. [Exam Warriors V. 5= J-IIt."-_-\I
Fafaad [doedl § O Ugl 3R &1 994 Bl ;

1. A-IV. B-II1. C-1. D-II

| ]

AL B-IL C-1 D-IV
3 AL B-IIL, C-1. D-IV
4. A-IL B-IIL. C-IV. D-1

Options :

686340155285. 1

686340155286. 2
686340155287. 3



686340155288. 4

Question Number : 23 Question Id : 68634039319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

UfemaTs Wal § ¥9ul eiid- arelt ggelt HRAg sfgar s g 2

1. Ot 3w
2. R feeg
3. PTGl HY
4, W A

Options :

686340155289. 1

686340155290. 2

686340155291. 3
686340155292. 4

Question Number : 23 Question Id : 68634039319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UfemaTs Wal § ¥9ul eiid- arelt ggelt HRAg sfgar s g 2

1. Ot 3w
2. R feeg
3. PTGl HY
4, W A

Options :

686340155289. 1

686340155290. 2

686340155291. 3
686340155292. 4

Question Number : 24 Question Id : 68634039320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o gl Py Ry T R Ay AT TU H G0 8 I SUS SR RSB FTH

frpyT A - Xt o geem &9 § gedl 6

TR R : A0 T Ul & faggq g gidl 8

SR B & SATald 0, =14 [0 T [deed ¥ § 99w SUgad S<R &1 99 HIVU |
1. A SRR EF 90 § SR R, A B Ug| IRAT §

A RRIFE GAE, AP R, AT Hel oI Tal ©

ATIE O PIR 3TAS

| B

[F5]

4 ANTIEAPIRTAR

Options :

686340155293. 1
686340155294. 2
686340155295. 3
686340155296. 4

Question Number : 24 Question Id : 68634039320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 g 2 [GU T & U@y A w0 [alad ¢ df 9% 9% SRUT R & U 4 g

STUDYT A MU T daa g &3 0 gl 5

HROT R : ST G Ul & fIgyq T=aa gidi o

SRS HYH & el O, 14 [4U U [ddvedl & 9aw SUgad SR & 99 BT |
1. A SRR E I E HRR. A DI U5l ARAT§

A SRR S 9@ 8, Al R, A BT G81 AR T8l ©

ATIEWPIR 3TAE

| B

L]

4 AT EAPIRTT

Options :

686340155293. 1
686340155294. 2
686340155295. 3
686340155296. 4

Question Number : 25 Question Id : 68634039321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fRaeEfarme:

%mm;mﬁdqum Ale AR THTE SR H T A1 aTell JEl 3R UaTg & U H a1 siral
[

YA : T Pl b GRIA fernge 3R Fa 9uft & fegfira oigd o1 v gsn g |

SR HY= & ATdle o, A4 50 70 fgswed # § 99w SUad SR &1 99 HIT |

1. BYT RIS g6
2. FYA 1 AR IS AT ©

3. FYTI IS, AfpTpuT I 3T B

)

4. PYTI 3T e, AT PUT I I &

Options :

686340155297. 1
686340155298. 2
686340155299. 3
686340155300. 4

Question Number : 25 Question Id : 68634039321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A G EURI PR
gﬁx;@waﬂt{c@ﬂ die AR SETE I H T WS arel Gl 3R uare & w9 § foar s
[

FYT I : T 1A b aRM [epge 3R Fa 4oft & f9efia simd o1 gsn g |

SWiad BY & Hdlle 4, 4 f4u 70 fdsed] & O g Suged TR &1 904 S |
1. FYF 1SR SH T

2. DY AR GHI 3T 7

3. FYTI IS, AfpTuT I 3T ©

)

4. PYTI 3T e, AT PUT I I &

Options :

686340155297. 1
686340155298. 2
686340155299. 3
686340155300. 4

Part B: Philosophy
Section Id : 686340774
Section Number : 2
Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 75

Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401294
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634039322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which theory says that "Everything is as it seems or appears to a man. does not amount to that".

1. Pythagoras

J

. Protagoras
3. Evolution
4. Causality

Options :

686340155301. 1
686340155302. 2
686340155303. 3
686340155304. 4

Question Number : 26 Question Id : 68634039322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

FeAfeREa o U food ¥sia 1 0d © o "Ide a% dg & oial 98 Wdid sid! & 1 fbdl safd & guef e
gl €. 98 990 e e et g 1

 GIBUNTRY
2. TIeTRY
3, fg@mrg

oiak

-

4. BIRUII

Options :

686340155301. 1
686340155302. 2
686340155303. 3
686340155304. 4



Question Number : 27 Question Id : 68634039323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

'Transcendental Idealism' is the theory of

1. Kant

| S

. Berkeley
3. Hume
4. Mall

Options :

686340155305. 1
686340155306. 2
686340155307. 3
686340155308. 4

Question Number : 27 Question Id : 68634039323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TSHHS Yemars e 5 9 feue REia g 2
1. DI
2. §ad

3.e9H
4. T

Options :

686340155305. 1
686340155306. 2
686340155307. 3
686340155308. 4

Question Number : 28 Question Id : 68634039324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



The Greek word "Ousia” means

1. Substance

| S

. Attributes
3. Mode
4. Spirit
Options :
686340155309. 1
686340155310. 2

686340155311. 3
686340155312. 4

Question Number : 28 Question Id : 68634039324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT Wree; ST T 194 &
1. gard
%
3. 7O

4. HAHT

[ ]

Options :

686340155309. 1
686340155310. 2
686340155311. 3
686340155312. 4

Question Number : 29 Question Id : 68634039325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who says that "Substance means particular things of that kind"?
1. Plato
2. Aristotle
3. Spinoza

4. Leibniz

Options :
686340155313. 1



686340155314. 2
686340155315. 3
686340155316. 4

Question Number : 29 Question Id : 68634039325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el o 9 foem oo 8 o o o1 s S veR o fofdy axgsii 9 8
1. =iel

. 3RE],
3. faHe
ERGIGIER]

Options :

686340155313. 1
686340155314. 2
686340155315. 3
686340155316. 4

[ ]

Question Number : 30 Question Id : 68634039326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Which sacred book of India 1s generally believed to be the earliest literacy record of the Indo-European race?

1. Vedas

| S]

. Upanishads
3. Puranas

4. Jataka-Katha

Options :

686340155317. 1
686340155318. 2
686340155319. 3
686340155320. 4

Question Number : 30 Question Id : 68634039326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



YRd % form ufa Ty 1 Saa: YRA-IRINE! oifd & wrEi-as Sfefde ifide & S8 g aare

108
2. 3ufAug

3. 90T
4. STA@-HUT

Options :

686340155317. 1
686340155318. 2
686340155319. 3
686340155320. 4

Question Number : 31 Question Id : 68634039327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Veda deals almost exclusively with the higher gods as conceived by a comparatively advanced and
refined sacred class?

1. RgVeda

| B

. Samaveda

L¥¥]

. Yajurveda
4. Atharvaveda

Options :

686340155321. 1
686340155322. 2
686340155323. 3
686340155324. 4

Question Number : 31 Question Id : 68634039327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁﬂﬁ?ﬁﬁﬁﬁ?{ma’dwﬂ qo-IE® =0 ¥ $9d Ud Uisad Rifed o9l gRI YRl {62 7 iREwaR o
HefIa g 2

1. B7dg
. HTdg

3. a9ds
4. 3Ydag

Options :

686340155321. 1
686340155322. 2
686340155323. 3
686340155324. 4

| E)

Question Number : 32 Question Id : 68634039328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which sacred book is written in prose form. and explain the sacred significance of the different rituals?

1. Vedas

J

. Upanishads
3. Brahmanas

4. Sambhitas

Options :

686340155325. 1
686340155326. 2
686340155327. 3
686340155328. 4

Question Number : 32 Question Id : 68634039328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



?ﬂﬁﬁ?ﬂﬁﬁﬁﬂmqﬁaﬁumﬁﬁ@w%mﬂwﬁﬁﬁﬂﬁgﬁﬁ Tgeddl &1 o] Bl 7Tg

1.dg
2. 3ulHug

R

3. SIGIT
4. dfgdr

Options :

686340155325. 1
686340155326. 2
686340155327. 3
686340155328. 4

Question Number : 33 Question Id : 68634039329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Vedic hymns are neither the productions of a single hand nor do they probably belong to any single

age?

1. Rgveda

2

. Samaveda
3. Yajurveda

4. Atharvaveda

Options :

686340155329. 1
686340155330. 2
686340155331. 3
686340155332. 4

Question Number : 33 Question Id : 68634039329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



%ﬁmﬁ@aﬁaﬁq@%ﬁamﬁwwwﬁmﬁ% IR e 7 23 Rl e gt § wefia

1. 1dg
. qHdg

3.794g
4, Hyddg

Options :

686340155329. 1
686340155330. 2
686340155331. 3
686340155332. 4

[

Question Number : 34 Question Id : 68634039330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who says that "Perception of all properties is dependent on the brain"?

1. Plato

. Aristotle

| S]

3. Descartes
4. Schopenhauer

Options :

686340155333. 1
686340155334. 2
686340155335. 3
686340155336. 4

Question Number : 34 Question Id : 68634039330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
frfafaa o 9 feee oo § ol orest &1 yaem afass ® R awarge
1. ®iel

:



Options :

686340155333. 1
686340155334. 2
686340155335. 3
686340155336. 4

Question Number : 35 Question Id : 68634039331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Upanishad shows the directions for meditating upon the dawn as the head of the horse instead of the
actual performance of the horse sacrifice?

1. Mandukya

| B

. Brhadaranyaka
3. Katha
4. Kena

Options :

686340155337. 1
686340155338. 2
686340155339. 3
686340155340. 4

Question Number : 35 Question Id : 68634039331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

31%d-aic1 & ardlas yIe & golid 324 & MR &1 SuIeTd O & &1 (44w (H=fafaa O 9 g sul-ug
o ugH fSarmn g 2

1. HIge

2. §EERTSH

3.6

4. %

Options :

686340155337. 1
686340155338. 2
686340155339. 3
686340155340. 4

Question Number : 36 Question Id : 68634039332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the Kathopanishad. who says that "a fool who is blinded with the infatuation of riches does not believe in a
tuture life"?

1. Yaksa

2

.Rs'i
3. Yama

4. God

Options :

686340155341. 1
686340155342. 2
686340155343. 3
686340155344. 4

Question Number : 36 Question Id : 68634039332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fomg | fou oel i e qE. o W 997E 3 9l ST S1aR0 ST 8. 599 Yiew & e o
fawarg =18l grar o

b2

7 8 4 3

Options :

686340155341. 1
686340155342. 2
686340155343. 3
686340155344. 4

Question Number : 37 Question Id : 68634039333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which Religion states that final extinction of sorrows takes place as the natural result of the destruction of
desires?

1. Buddhism

2

. Jainism
3. Samkhya

4. Vedanta

Options :

686340155345. 1
686340155346. 2
686340155347. 3
686340155348. 4

Question Number : 37 Question Id : 68634039333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%‘HP fad 8 9 foog v & g8 Swoid & o sifod gra-faeiu o1 waif s & Safifs g9t 3 & gl

1. dgyd
o
3. 9
4, dar=d
Options :
686340155345. 1
686340155346. 2

686340155347. 3
686340155348. 4

b2

Question Number : 38 Question Id : 68634039334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Who asserted that the self is indestructible and eternal?

1. Vedas

J

. Sambhitas

3. Puranas

s

. Upanishads



Options :

686340155349. 1
686340155350. 2
686340155351. 3
686340155352. 4

Question Number : 38 Question Id : 68634039334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafeiaa © O g grar 8 & S1e 3FYar Ud Iead g 2

1.dg
3. ORI
4. 3ulHYg

Options :

686340155349. 1

686340155350. 2

686340155351. 3
686340155352. 4

[ ]

Question Number : 39 Question Id : 68634039335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the concepts below stands for all established ways of living-secular, moral and religious?

1. Rta

J

. Bna
3. Karma

4. Dharma

Options :

686340155353 1
686340155354. 2
686340155355. 3
686340155356. 4

Question Number : 39 Question Id : 68634039335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



fAfeRaa o O ST Yo siigs & 9yt wifta adies! - difes. Afaw ok uifdfes 3 g8 e 2

1.5Bd
2. B
3. %
4. 44

Options :

686340155353. 1

686340155354.2

686340155355. 3
686340155356. 4

Question Number : 40 Question Id : 68634039336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Everything changes from moment to moment is known as -

1. Pratitya-Samut-Pada

b2

. Satkarya-Vada
3. Ksanika-Vada
4. Nirvana
Options :
686340155357. 1
686340155358.2

686340155359. 3
686340155360. 4

Question Number : 40 Question Id : 68634039336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
450 Ud-Ufdue uRafdd g1l 8. 38 Bel 9l &:
1. Ulig-ga e
. Hp1dare
3. &fUrpdre
4. F=ator

Options :
686340155357. 1

| B



686340155358. 2
686340155359. 3
686340155360. 4

Question Number : 41 Question Id : 68634039337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which Religion says, "If all things in the world are transient and unsubstantial our endeavours to secure any of
them for ourselves or for others must be labour wholly lost"?

1. Buddhism

2. Jainism

Lad

. Yoga
4. Mimamsa

Options :

686340155361. 1
686340155362. 2
686340155363. 3
686340155364. 4

Question Number : 41 Question Id : 68634039337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

for vf o1 9 § o - ufe TR ot ot axgt i ud eniifos €. di g & R o gl & Rre s 9
fosit &1 ot JRI&d P2 1 59RT Yo qofc: & g2

1. SrgyH

2.9y

3. O

4. HrorE
Options :
686340155361 1
686340155362. 2

686340155363. 3
686340155364. 4

Question Number : 42 Question Id : 68634039338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who says. "Eudaimonia is the highest good attainable by man".

1. Plato

| S]

. Aristotle

3. Socrates

4, Immanuel Kant
Options :
686340155365. 1
686340155366. 2

686340155367. 3
686340155368. 4

Question Number : 42 Question Id : 68634039338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fefefad 3 9 foas! oy € o, " SEueTs 59 GRI Hfold Galkaa gy e 1
1. el

2. &

3. gBId

5 :
Options :
686340155365. 1
686340155366. 2

686340155367. 3
686340155368. 4

Question Number : 43 Question Id : 68634039339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1
Who deliberated '"Virtue' as the basic ethical concept articulated through justice. courage and self-control?
1. Plato
2. Aristotle
3. Socrates

4. Hobbes

Options :
686340155369. 1



686340155370. 2
686340155371. 3
686340155372. 4

Question Number : 43 Question Id : 68634039339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrfRea o 9 e Fgir &1 U5, 98 SR S1E-Faa0 gR1 S=id qad Ade Heea & o0 1
foram-famst far ur»

1. &iel
 3REL
3. gobrd
4. 8ie9

[ R

Options :

686340155369. 1
686340155370. 2
686340155371. 3
686340155372. 4

Question Number : 44 Question Id : 68634039340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Who belisved that the measure of the correctness of human behaviour should be the usefulness of its effects?

1. 1. 8. Mill

J

. Immanuel Kant
3. Jacob Hume
4. Aristotle

Options :

686340155373. 1
686340155374. 2
686340155375. 3
686340155376. 4

Question Number : 44 Question Id : 68634039340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340155373. 1
686340155374. 2
686340155375. 3
686340155376. 4

[

L% ]

Question Number : 45 Question Id : 68634039341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who says that "Work plays an important role in human life. thanks to which he can satisfy his needs"?
1.7 8. Mill
2. Immanuel Kant
3. H. Kollataj
4. Aristotle
Options :
686340155377. 1
686340155378. 2

686340155379. 3
686340155380. 4

Question Number : 45 Question Id : 68634039341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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Options :

686340155377. 1
686340155378. 2
686340155379. 3
686340155380. 4

Question Number : 46 Question Id : 68634039342 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who assumed that "Things in themselves are neither good nor bad"?

1. Plato
2. Aristotle
3. Spinoza
4. Socrates

Options :

686340155381. 1

686340155382. 2

686340155383. 3
686340155384. 4

Question Number : 46 Question Id : 68634039342 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el 5 9 foge od ui o, "a¥qy o9 3y H = dt 3=s1 gidl & SR A 8l g2
1. el

[ ]

SRE],
3. faHTe

4. G

Options :

686340155381. 1
686340155382. 2
686340155383. 3
686340155384. 4

Question Number : 47 Question Id : 68634039343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who says that "Virtue does not depend solely on reason. but 1s based on the order and harmony of the soul"?

1. Plato

| S

. Aristotle
3. Socrates
4. Spinoza

Options :

686340155385. 1
686340155386. 2
686340155387. 3
686340155388. 4

Question Number : 47 Question Id : 68634039343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gmaﬂﬁm%ﬁ?ﬁ. T S a R TR e wrar 8. Sifig e F gwn 3iR wnfa W snenfa gie

1. &

2. I,

3. g

4. ST
Options :
686340155385. 1
686340155386. 2

686340155387. 3
686340155388. 4

Question Number : 48 Question Id : 68634039344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which ethics 1s divided into Axiology and de-ontology?
1. Normative ethics
2. Environmental ethics
3. Bio-ethics

4. Professzional ethics

Options :



686340155389. 1
686340155390. 2
686340155391. 3
686340155392. 4

Question Number : 48 Question Id : 68634039344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FefRgd O 9 1 1 Hifdwe Jeadmia SR s O fquiied ¢ 2
1. fFrarme Hifaard
2. qafaRvitg Hifa=rr
3. SR
4. I Hifaured

Options :

686340155389. 1
686340155390. 2
686340155391. 3
686340155392. 4

Question Number : 49 Question Id : 68634039345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which ethics is an ethical reflection on practical problems and attempts to solve them thanks to the tools used?

1. Social Ethics

| S

. Work Ethics

L 5]

. Applied Ethics
4. Bio-ethics

Options :

686340155393. 1
686340155394. 2
686340155395. 3
686340155396. 4

Question Number : 49 Question Id : 68634039345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. TS SR
2. F Hifdera
3. IR
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Options :
686340155393. 1
686340155394, 2

686340155395. 3
686340155396. 4

Question Number : 50 Question Id : 68634039346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which argument is mainly concerned about the Validity / Invalidity of the arguments?
1. Deductive
2. Inductive
3. Hypothetical
4. Symbolic
Options :
686340155397. 1
686340155398. 2

686340155399. 3
686340155400. 4

Question Number : 50 Question Id : 68634039346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340155397. 1
686340155398. 2
686340155399. 3
686340155400. 4

Question Number : 51 Question Id : 68634039347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which form of logic 13 mainly concerned about the truth/ falsity of the propositions in an argument?

1. Deductive

2. Inductive

L¥ 5]

. Symbolic
4. Hypothetical

Options :

686340155401. 1
686340155402. 2
686340155403. 3
686340155404. 4

Question Number : 51 Question Id : 68634039347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
ylcsiitea! 1 gEa: Sy sead ¥ Jditg Feifead asHaab g2
1. TS
2. HITHATHSD
3. Ul T D
4. gdltyd

Options :

686340155401. 1
686340155402. 2
686340155403. 3
686340155404. 4

Question Number : 52 Question Id : 68634039348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the attributes of individual propositions?

1. Validity and Invalidity

| S]

. Truth and Falsehood

L¥ 5]

. Quality and Quantity
4, Universal and Particular
Options :
686340155405. 1
686340155406. 2

686340155407. 3
686340155408. 4

Question Number : 52 Question Id : 68634039348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ay it & 1ur-od =fafed § S S 3 2

1. QYT 3R e
2. Tl 3R el
3. T[0T 3fIR I
4. TdaaTdt 3R sigrerdt

Options :

686340155405. 1

686340155406. 2

686340155407. 3
686340155408. 4

Question Number : 53 Question Id : 68634039349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What is a collection of entities having same comion characteristics called?
1. Genus
2. Species
3. Differentia

4. Substance

Options :
686340155409. 1
686340155410. 2



686340155411.3
686340155412. 4

Question Number : 53 Question Id : 68634039349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U A SHeen arell a3l 1 §Ug Fl Hedldl 6 2

4, gog/uery

Options :

686340155409. 1
686340155410. 2
686340155411. 3
686340155412. 4

Question Number : 54 Question Id : 68634039350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which fallacy occurs when middle term is not distributed in any of the premises in an argument?

1. Missing the point

J

. The red herring
3. Hasty generalization

4. Undistributed middle

Options :

686340155413. 1
686340155414.2
686340155415. 3
686340155416. 4

Question Number : 54 Question Id : 68634039350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340155413. 1

686340155414, 2

686340155415. 3
686340155416. 4

Question Number : 55 Question Id : 68634039351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s that logical relationship where one proposition is the denial of the other proposition. they can't both be
true and can't both be false?

1. Contrary

[ ]

. Sub-contrary

. Sub-altern

Lad

4. Contradictories

Options :

686340155417. 1
686340155418. 2
686340155419. 3
686340155420. 4

Question Number : 55 Question Id : 68634039351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. faudia
3. 3unigd
4, ST
Options :
686340155417. 1
686340155418.2

686340155419. 3
686340155420. 4

[ ]

Question Number : 56 Question Id : 68634039352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many premises does arguments of confirmation have?

|

-2

4

4.3

Options :

686340155421. 1
686340155422. 2
686340155423. 3
686340155424. 4

Question Number : 56 Question Id : 68634039352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340155421. 1
686340155422.2
686340155423. 3
686340155424. 4

Question Number : 57 Question Id : 68634039353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What's the goal of testing hypothesis in eritical thinking?

1. To eliminate false hypothesis

. To support false hypothesis

J

3. To eliminate true hypothesis
4. To support true hypothesis

Options :

686340155425. 1
686340155426. 2
686340155427. 3
686340155428. 4

Question Number : 57 Question Id : 68634039353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Tutem® fHd- § UIgdheg-T U180 &1 ded R 6 2

1. fie ures o1 &1 faeg &A1

)
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Options :

686340155425. 1
686340155426. 2
686340155427. 3
686340155428. 4

Question Number : 58 Question Id : 68634039354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who observed but did not predict a solar eclipse in Greek Philosophy?

1. Plato

| S]

. Aristotle
3. Socrates

4. Thales

Options :

686340155429. 1
686340155430. 2
686340155431. 3
686340155432. 4

Question Number : 58 Question Id : 68634039354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A &= 1 fobe iugur &1 sfaaie fasar ur =g wfgsmaroft 3¢ ot ot 2
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Options :

686340155429. 1

686340155430. 2

686340155431. 3
686340155432. 4

| )

Question Number : 59 Question Id : 68634039355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is true of Aristotle?

1. Justice can be best delivered only when an mdividual reflects and acts according to an unconditional
reasoning.

| B

. Justice can be best delivered when an individual acts virtuously with prudence according to the situation
avoiding extreme positions.

3. Justice can be best delivered only when practical aspects of individual's interest is taken into account.

4. Justice can be delivered only through right intuition.



Options :

686340155433. 1
686340155434. 2
686340155435. 3
686340155436. 4

Question Number : 59 Question Id : 68634039355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3% Hed ¥ FeAfaRed 0 4 o9 Ol vy Tel 6 2
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Options :

686340155433. 1
686340155434. 2
686340155435. 3
686340155436. 4

Question Number : 60 Question Id : 68634039356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following statements is true of B. R. Ambedkar?

1. Ambedkar was critical of pragmatism and took up Buddhism as an alternative Philosophy to pragmatism.

| S

. Ambedkar blended Buddhism with Sanatan Hinduism to gain his political goal.

3. Ambedkar embraced Buddhism. but at the same time refused to accept Karma theory as traditionally
accepted.

4. Ambedkar's Navayana Buddhism is almost similar to Ajivika Philosophy of critical skepticism.

Options :

686340155437. 1
686340155438. 2
686340155439. 3
686340155440. 4

Question Number : 60 Question Id : 68634039356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :



Correct Marks : 4 Wrong Marks : 1
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Options :

686340155437. 1
686340155438. 2
686340155439. 3
686340155440. 4

Question Number : 61 Question Id : 68634039357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which Philosopher used the term "Arche” which means 'a ruling principle’. in Greek Philosophy?

1. Anaximander

| S]

. Thales
3. Confusious

4. Aristotle

Options :

686340155441. 1
686340155442. 2
686340155443. 3
686340155444. 4

Question Number : 61 Question Id : 68634039357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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Options :

686340155441. 1
686340155442. 2
686340155443. 3
686340155444. 4

-

Question Number : 62 Question Id : 68634039358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to Plato. the idea of justice can be conceived only through the process of

1. Dialectics

-2

. Historical Construction
3. Blendmg the deductive and inductive reasoning

4, Hermeneutics

Options :

686340155445. 1
686340155446. 2
686340155447. 3
686340155448. 4

Question Number : 62 Question Id : 68634039358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

@iel & HTHR, 19 31 [aR Faa i wfiar gR1 siead favar s awa
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Options :
686340155445. 1

)



686340155446. 2
686340155447. 3
686340155448. 4

Question Number : 63 Question Id : 68634039359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
According to Protagoras.
1. Truth can be ascertained only through human reasoning.
2. Man is the measure of all things.
3. Life can be measured only through collective decision.

4. Reality 1s beyond the domain of human enterprise.

Options :

686340155449. 1
686340155450. 2
686340155451. 3
686340155452. 4

Question Number : 63 Question Id : 68634039359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TIETRE & SR,
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T Tt gt 1 GEET 8
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Options :

686340155449. 1
686340155450. 2
686340155451. 3
686340155452. 4

| )

Question Number : 64 Question Id : 68634039360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who highlighted that 'the main forms assumed by air as a result of condensation and rarefaction'?

1. Anaximenes

{S]

. Hippolytus
3. Theophrastus
4. Thales

Options :

686340155453. 1
686340155454. 2
686340155455. 3
686340155456. 4

Question Number : 64 Question Id : 68634039360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340155453. 1
686340155454. 2

686340155455. 3
686340155456. 4

Question Number : 65 Question Id : 68634039361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who defines 'a subject as that of which other things are predicated but not itself predicted of anything else'?
1. Plato
2. Aristotle
3. Zeno
4. Socrates
Options :

686340155457. 1
686340155458. 2



686340155459. 3
686340155460. 4

Question Number : 65 Question Id : 68634039361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FfcRgd O 9 fope uleuiiea o o, us fawg s @18 8 3 a1d qdHuiia ¢ foowg 9 o foshl
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1. &iel
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4. gH0d

Options :

686340155457. 1
686340155458. 2
686340155459. 3
686340155460. 4

Question Number : 66 Question Id : 68634039362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R ;
Asgertion A : Carvaka 1s a Materialist.

Reason R : Carvaka accepts that perception is the only valid means of knowledge.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is NOT the correct explanation of A.
3. A 1s correct but R is not correct.

4. A 1s not correct but R is correct.

Options :

686340155461. 1
686340155462. 2
686340155463. 3
686340155464. 4

Question Number : 66 Question Id : 68634039362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340155461. 1
686340155462. 2
686340155463. 3
686340155464. 4
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Question Number : 67 Question Id : 68634039363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Ontological concepts are totally different from metaphysical concepts.

Reason R : Ontological concepts deal with actual existential beings, where as metaphysical concept deals with
both existential and non-existential Realities.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.

J

2. Both A and R are correct but R 18 NOT the correct explanation of A.

. A is correct but R is not correct.

L]

4. A is not correct but R is correct.

Options :

686340155465. 1
686340155466. 2
686340155467. 3
686340155468. 4

Question Number : 67 Question Id : 68634039363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 2 2 (ST T & U SMUPHUT (Assertion A) B =0 I (¢l § Al GHI 3TD BRI (Reason R) &
S

STEYT A AR YHed1d TadHg Seearsi 9 guid: B g |

HRU R : JAH AR Hed-10 TRaa® AKamR® 9 9 Hai9d 8l 5. oeid daHHiy g o1
HET@RS U9 TR-AETd R Ut giH1 T TdfIa gidi € |

QORI Sy & 3felid |, = 3 7 faseul 8 9 9ad Iuged 3R &1 99 BT |

1. AGYTR &I 961 § AU R, A I 95| AR §

2. ATUTR &1 U8 8. O R, A S Hel SR -8l §
3. ATEI R e R Tt T B

4 AGEI RIS AfPIR WEI B

Options :

686340155465. 1
686340155466. 2
686340155467. 3
686340155468. 4

Question Number : 68 Question Id : 68634039364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R
Agsertion A : In the conecept of mind. Gilbert Ryle maintains that the distinction between the mind and the
body 1z one of category.

Reason R : Gilbert Ryle is a dualistic philosopher.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.

.

2. Both A and R are correct but R 1s NOT the correct explanation of A.

. A is correct but B is not correct.

L]

4. A is not correct but R is correct.

Options :

686340155469. 1
686340155470. 2
686340155471. 3
686340155472. 4

Question Number : 68 Question Id : 68634039364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 2l 2 (34U T 6 U SUPBYT (Assertion A) & =0 I [ & Al GHRI 3UD BRI (Reason R) B

S

gﬁ@uﬁa:fﬁﬁé?ﬁaaﬁwﬁamﬁ%ﬁ? - S o1 § 79 SR S/ & aid [J9E U Pife ol
I

HRUR : filesd 50 U gdard! eeiFe € |

SURIGT Sy o 3Tl H, = f3u 7 faseul 8 ¥ 9ad Iugad 3T &1 99 B |

1. AGUTR &M 96l § AU R, A &I 95| AR §

2. ATUTR &1 I8! 8. b R. A &1 Hel SR 718l §
3. ATEI R e R Tt T ©

4 AGEI RIS AT R WEI B

Options :

686340155469. 1
686340155470. 2
686340155471. 3
686340155472. 4

Question Number : 69 Question Id : 68634039365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Agsertion A : Buddhists believe in Astanga-Margas.

Reason R : Yama. Niyama. Asana. Pranayama, Dhyana, Dharana. Pratyahara and Samadhi are Buddhist
Astanga margas.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R 18 NOT the correct explanation of A.
3. A 1is correct but R is not correct.

4. A is not correct but R is correct.

Options :

686340155473. 1
686340155474.2
686340155475. 3
686340155476. 4

Question Number : 69 Question Id : 68634039365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 g1 U 13U T & 0P SHUDYT (Assertion A) & T9 H [H1Ed T T G3RT 3HP BRI (Reason R) P
IO

B A - g AFFT AR BT A T |

HRUIR : G4, 09, 3184, W0, 977, YR, U8R SR J91E §1g smiani g |

SURId BYF & 3l H, A U 7 fas el § ¥ 9ad Iugad SR & 99 i |

1. AGYUTR GIF1 G61 § UTR, A DI U6! AR §

2. ATUTR &1 U8 5. Ofb- R, A S Ul SR -8l §
3. ATEI R Afe R Tt Y ©

4 AFEI RIS APTIR TEI B

Options :

686340155473. 1
686340155474. 2
686340155475. 3
686340155476. 4

)

Question Number : 70 Question Id : 68634039366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a gross elements?

A, Water
B. Air
C. Spirit
D. Earth
E.Fire

Choose the correct answer from the option given below :

1. Aonly

| ]

. B only
3.D only
4. C only

Options :

686340155477. 1
686340155478. 2
686340155479. 3
686340155480. 4

Question Number : 70 Question Id : 68634039366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A g ce s AT g 2

ANl

B. 4]
C. 3Tl

D. gt
E. 3

1= 38 U A edl §f 998 Sugad 3R &1 989 DI |

1. had A
2. A B
3. %ddD
4. Pad C

Options :

686340155477. 1

686340155478. 2

686340155479. 3
686340155480. 4

Question Number : 71 Question Id : 68634039367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not a categorical proposition?
A.'A' Proposition
B. 'E' Proposition
C. 'T' Proposition
D. 'O Proposition
E. U’ Proposition

Choose the correct answer from the option given below :

1. E only

| S

.Aand B only

faa

. C only
4. D and E only

Options :

686340155481. 1
686340155482. 2
686340155483. 3
686340155484. 4



Question Number : 71 Question Id : 68634039367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e nfasit Fafafea i d e Tt =g g 2

A A TR
B e

Mo nwp

U e
= &g 71 faeedl ¥ 99 IUgEd TR &1 98- HifU |
1. PAUE
.Ppad AR B
3.Pau C
4. 990D IR E
Options :
686340155481. 1
686340155482. 2

686340155483. 3
686340155484. 4

{ ]

Question Number : 72 Question Id : 68634039368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who wrote the "Vedas'?

A. Parashara
B. Vyasadeva
C. Balmiki

D. Parshurama

Choose the correct answer from the option given below :

1. Aonly

| B

. B only
3. C only
4. D only

Options :

686340155485. 1

686340155486. 2
686340155487. 3



686340155488. 4

Question Number : 72 Question Id : 68634039368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
del i T fbg Bt i 2

A TRER
B. A19<d
C. gl

D. TR
i {48 T faeedl §f a9 IUgEd ok &1 94 DIy |

1.dd A
2. %ad B
3. C
4, $ddD

Options :

686340155485. 1
686340155486. 2
686340155487. 3
686340155488. 4

Question Number : 73 Question Id : 68634039369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The chronological order of the Vedas are -
A. Atharva veda
B. Rg veda
C. Sama veda
D. Yajur veda

Choose the correct answer from the option given below :
1.A/B,E.D
2. A BT
3.B.C.D.A
4.D,B.AC

Options :
686340155489. 1
686340155490. 2



686340155491. 3
686340155492. 4

Question Number : 73 Question Id : 68634039369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

de! @1 BIETHH T

A, Huddg
B. Bidg

C. gmag
D. 7944
1= iGg e o edl § 998 9ugad IR &1 98- DI |

1.AB.CD

[ )

.C,A.B.D
3B CREEA.
4 D.B.A.C

Options :

686340155489. 1
686340155490. 2
686340155491. 3
686340155492. 4

Question Number : 74 Question Id : 68634039370 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The order of the Nyaya Pramanas are -

A Upamana
B. Sabda

C. Anumana
D. Pratyaksa

Choose the correct answer from the option given below :

1.C.D.A.B

-

.B.C.D. A
JJABCD
4D CAB

Options :
686340155493. 1



686340155494. 2
686340155495. 3
686340155496. 4

Question Number : 74 Question Id : 68634039370 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=T THIUT @1 S §

A SUHH
B. s

C. A
D. A&

1= iGg e o edl § 998 9ugad IR &1 98- DI |

1.C.D.A.B

[ ]

.B,C.D.A
A BC0D
4 D.C.A.B

Options :

686340155493. 1
686340155494. 2
686340155495. 3
686340155496. 4

Question Number : 75 Question Id : 68634039371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

The order of four noble truths in Buddhism are -

A. Duhkha - Nirodha - Marga
B. Duhkha

C. Duhkha nirodha

D. Duhkha Samudaya

Choose the correct answer from the option given below :

1.C.A.D.B

| B

B.D.C.A
3.A.B.C.D
4. D, C, B.A

Options :



686340155497. 1
686340155498. 2
686340155499. 3
686340155500. 4

Question Number : 75 Question Id : 68634039371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dieyd & IR YAl D1 SHPH o

A, G- FRIMART
B. 3

c.gE Ry

D. g ¥

9 138 70 faeedl & 9El G BT 95 B |

1.CCADB

[ )

.B.D,C,A
3ABCD
4.D.C.B.A

Options :

686340155497. 1
686340155498. 2
686340155499. 3
686340155500. 4

Question Number : 76 Question Id : 68634039372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The order of categorical propositions are -
A. Universal Negative
B. Particular Negative
C. Universal Aftirmative

D. Particular Affirmative

Choose the correct answer from the option given below :

1.C.A.D.B

2

AVB.C D

JJALCB.D

4.D,B.C.A



Options :

686340155501. 1
686340155502. 2
686340155503. 3
686340155504. 4

Question Number : 76 Question Id : 68634039372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt wfdasicl @1 3w &

A. TdagTdt FAveTEs
B. 3oyl e erds®
C. TaeTdl WeRIES
D. YUl WiHRIHAS

e 70 71U fdedl § Uel 3k &1 994 $1 |

16, ATDLB
2.A.B.C.D
3.A.C.B.D
4.D.B.C.A

Options :

686340155501. 1

686340155502. 2

686340155503. 3
686340155504. 4

Question Number : 77 Question Id : 68634039373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The order of quantificational propositions are -

A. Existential Instantiation
B. Universal Instantiation

C. Existential Generalization
D. Universal Generalization

Choose the correct answer from the option given below :

1.LAB.C.D
2.A.C.B.D
3. D.B.CA
4.B.A.D.C

Options :

686340155505. 1

686340155506. 2

686340155507. 3
686340155508. 4

Question Number : 77 Question Id : 68634039373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UREUHIES Uil &1 35 o:
A, S{ETAYLE TEICHR0
B. JdeaTdt TP

C. AT RS THEH
D. JdagTdt S IHR

9 138 70 faeedl & 9El G BT 95 B |

1.AB.CD

[ )

.A.C.B.D
3.D,B,C.A
AB,A.D.C

Options :

686340155505. 1
686340155506. 2
686340155507. 3
686340155508. 4

Question Number : 78 Question Id : 68634039374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Which of the following is not a kind of Pitakas' in Buddhism?

A. Dhamma Pitaka

B. Sutta Pitaka

C. Abhidhamma Pitaka
D. Vinaya Pitaka

Choose the correct answer from the option given below :

1. A only

J

. B only
3. C only
4. D only

Options :

686340155509. 1
686340155510. 2
686340155511. 3
686340155512. 4

Question Number : 78 Question Id : 68634039374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
sigud 4 TUee ®1 Ue YoR HEfafed § 9 o ar9gl s 2

A, 41 fUesd

B. I fice

C. HiYyH [Ueh
D. a4 [Ue®

A< 748 7 faeedl o 999 IUgE TR &1 99 B |

1. had A
2. $ad B
3, Had C
4.%ad D

Options :

686340155509. 1

686340155510.2

686340155511. 3
686340155512. 4




Question Number : 79 Question Id : 68634039375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The order of the castes from higher to lower according to Hindu Mythology.
A, Brahman - Vaishya - Kshatriyva - Shudra
B. Kshatriya - Brahman - Shudra - Vaishya
C. Shudra - Vaishya - Kshatriya - Brahman
D. Brahman - Kshatriya - Vaishya - Shudra

Choose the correct answer from the option given below :

1. A only

J

. C only
3.D only

4. B only

Options :

686340155513. 1
686340155514. 2
686340155515. 3
686340155516. 4

Question Number : 79 Question Id : 68634039375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
f&= fy® & o ER oiiadl &1 9= 4 FE o &

A SITGIT - 4%y - &f137 - X

B. &34 - SV - Y% - 39

C. Y% - 994 - &Y - FEh0
D. SITEUl - &3 - 3% - &

1 32 v faeedl | 9l SR B I B |
1. Pdd A
2. Had C
3. Had D
4.$qd B

Options :

686340155513. 1
686340155514. 2
686340155515. 3
686340155516. 4



Question Number : 80 Question Id : 68634039376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement - I : Sankara believed that Brahman is the only Reality.

Statement - II : Sankara 1 an unqualified monist.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement [ and Statement IT are true.

| )

. Both Statement [ and Statement IT are false.
3. Statement I is true but Statement IT 1s false.

4. Statement I is false but Statement II is true.

Options :

686340155517. 1
686340155518. 2
686340155519. 3
686340155520. 4

Question Number : 80 Question Id : 68634039376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A RIS EUR] (PR

FU: TR PTATUIF TS TG HF gUd § |

PUTII : TP Uh AW Edadi & |

SRIGd FYF & P |, A [0 770 fdsedi § T 98! IR &1 9 DIl

1. YA R GH 9 ©
2. FUF 1 R I THI AT
3, YT 1 T 8, AfeT HUT 11 3T &
4. FUA AT . AT FUI I Id ©
Options :
686340155517. 1
686340155518. 2

686340155519. 3
686340155520. 4

Question Number : 81 Question Id : 68634039377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :

Statement - I : Carvaka rejected Moksa as one of the goals of life.

Statement - IT : Shankaracharya rejected Moksa as one of the goals of life.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement [ and Statement IT are true.

| )

. Both Statement [ and Statement II are false.
3. Statement I is true but Statement II 1s false,

4. Statement I i1s false but Statement IT 15 true.

Options :

686340155521. 1
686340155522. 2
686340155523. 3
686340155524. 4

Question Number : 81 Question Id : 68634039377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIERARC I AR o

YT TGP - S & DU & 3 T HIef BT W fHar o |

HUA 11 - THIER = Oia— & AT & B9 T Oie &1 s fhar o1 |
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1. PYT1 IR I SH 9T &
2. HYT 13RI SH SR &

3. PUTITA 8, AP PU I ST &

I I e e A TR IR B e i

Options :

686340155521. 1
686340155522.2
686340155523. 3
686340155524. 4

Question Number : 82 Question Id : 68634039378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :

Statement - I : Deep Ecologists emphasize on the need to provide autonomy to the environment.

Statement - IT : One of the major reasons for environmental degradation is that nature has been taken as an end
in itself.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement II is incorrect.

4. Statement I is incorrect but Statement II is correct,

Options :

686340155525. 1
686340155526. 2
686340155527. 3
686340155528. 4

Question Number : 82 Question Id : 68634039378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 gl P2 QU e &
HUA 1 : THR TiaRUIfgE] 3 ggiaRu] & WAl 9eH B S SHavgdhd R §¢ fagr g |
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fea

Options :

686340155525. 1
686340155526. 2
686340155527. 3
686340155528. 4

Question Number : 83 Question Id : 68634039379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Tri-Ratna belongs to Jaina Ethics,

Statement II : Tri-Ratna belongs to Buddhist Ethics.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct,

| S

. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.

4. Statement I is incorrect but Statement I is correct.

Options :

686340155529. 1
686340155530. 2
686340155531. 3
686340155532. 4

Question Number : 83 Question Id : 68634039379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁaaﬁiﬂﬁt{ﬂﬁﬁ:

HYA 1 - FHIReT o Hifauna ¥ H9dfia g |
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SR BY B D H, A1 2T 1Y fasedi § ¥ Falfte I9ge IR B 98- DI

1. PYA1 3R I SHI I &
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3. YT I A 8, AfbT FU 11 ST &

4 FYTI MO e AT EuT N g 8

Options :

686340155529. 1
686340155530. 2
686340155531. 3
686340155532. 4

Question Number : 84 Question Id : 68634039380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : If is necessary in a valid argument that all the premises and conclusion are true.

Statement IT ; Validity / Invalidity of an argument is not dependent on the truth or falsity of the premises.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.

| )

. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement I is incorrect.

4. Statement I is incorrect but Statement I is correct.

Options :

686340155533. 1
686340155534. 2
686340155535. 3
686340155536. 4

Question Number : 84 Question Id : 68634039380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR

HYA 1 : Jugfad § I8 a0 g 1o 9l seRare 3R Fpy 9 g1

BYA 11 : 5l ickT B auan e STeRared! &1 Fadl 31 SEdl i HUR T8l sar g |
SR B & fTdld |, A1 I 70 f[dsed! ¥ § walite Suged 3R &1 994 S

1. PUI RIS g
2. HYT IR 11 SH 3T &

3. FUTI A g, AP PUT I ST &

4. FUT IO . AP HUT I I &

Options :

686340155533. 1
686340155534.2
686340155535. 3
686340155536. 4

Question Number : 85 Question Id : 68634039381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Qualitatively, a proposition may be Universal or Particular.

Statement II ;: Quantitatively, a proposition may be Affirmative or Negative.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct.

| )

. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.

4. Statement I is incorrect but Statement I is correct.

Options :

686340155537. 1
686340155538. 2
686340155539. 3
686340155540. 4

Question Number : 85 Question Id : 68634039381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIERAR I AR o

HYA 1 - UTES $U A DI, Uiawial Gdeard! a1 el g1 Fabd 3 |

HY 11 - IRATHS $9 I Bis, Ui WHRES a1 HuTHS 6 9ol § |
SR FYF & fald |, 3rd U e fdsedi § O 9el TR &1 904 S

L P IR IS 9 &
2. HYF ISR I SH A T
3. PYT I g 8. AfeT U I T ©
4P HTT e AfeT R N g 8
Options :
686340155537. 1
686340155538. 2

686340155539. 3
686340155540. 4

Question Number : 86 Question Id : 68634039382 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Buddhism 1s a Nastik system.

Statement I : Buddhism emphasizes on soteriological aspects of human transtformation.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct.

| )

. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.

4. Statement I is incorrect but Statement I is correct.

Options :

686340155541. 1
686340155542. 2
686340155543. 3
686340155544. 4

Question Number : 86 Question Id : 68634039382 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁaaﬁmﬁt{m{%

FHUT 1 : SIGHd U TIE® TUSM ¢ |

BYF I : SlsHd 91T BRI & Gk U U §¢ adl © |

SR BY P D H, A1 2T 1Y fadedi § 4 Falfte I9ge IR B 90 DI

1. PYA1 3R I SHI I &
2. BYT 1R 11 SHI 3T ©

3. YT I A 8, AfbT FU 11 ST &

4 FYTI MO e AT EuT N g 8

Options :

686340155541. 1
686340155542. 2
686340155543. 3
686340155544. 4

Question Number : 87 Question Id : 68634039383 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is rejected by Carvaka?

A. Earth
B. Water
C. Fire
D. Air
E. Ether

Choose the most appropriate answer from the option given below :

1. Aonly

| o]

. C only
3.D only
4. E only

Options :

686340155545. 1
686340155546. 2
686340155547. 3
686340155548. 4

Question Number : 87 Question Id : 68634039383 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[N [ e

FEfafag © Q g sRdleR 9ais gRI g man g 2

= AT e fieedi & 9 9ad SUgad SR &1 997 ST
1. Pdd A
2. Padl C
3. %ad D
4. BAUE

Options :

686340155545. 1
686340155546. 2
686340155547. 3
686340155548. 4



Question Number : 88 Question Id : 68634039384 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who rejected Moksa as one of the goals of life?

A, Jaina Religion
B. Baudha Religion
C. Carvaka

D. Samkhya System

Choose the most appropriate answer from the option given below :

1. A only

J

. B only
3. C only
4. D only

Options :

686340155549. 1
686340155550. 2
686340155551. 3
686340155552. 4

Question Number : 88 Question Id : 68634039384 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFefefad # 9 o offer & e & 39 H Hla 91 SRdioR fear g 2

AL Y
B. 4G H
C. drai®
D. Ty 2

- fqu e ool 7 9 9ed Suged SR &1 909 DI
1. 9ad A
2. %aq B
3. a0 C
4.9dd D

Options :

686340155549. 1
686340155550. 2
686340155551. 3
686340155552. 4




Question Number : 89 Question Id : 68634039385 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

'Pratitya - Samutpada’ 1s the causal theory of -

A. Buddhism
B. Jainism
C. Yoga

D. Mimamsa

Choose the most appropriate answer from the option given below :

1. A only

2

. B only
3. C only
4. D only

Options :

686340155553. 1
686340155554.2
686340155555. 3
686340155556. 4

Question Number : 89 Question Id : 68634039385 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
it Sere Fefafaa o § fras sru fagia g
A digad
B. SFHd

C. g
D. #HE1

= AT e figedi & 9 9ad Sugad I &1 997 ST
1. Pdd A
2. &adl B
3. dad ¢
4.®qUD

Options :

686340155553. 1
686340155554. 2
686340155555. 3




686340155556. 4

Question Number : 90 Question Id : 68634039386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a Purusartha?

A, Dharma
B. Satya
C. Moksa
D. Artha
E. Kama

Choose the most appropriate answer from the option given below :

1. Aonly

| B

. B only
3.D only
4. E only

Options :

686340155557. 1
686340155558. 2
686340155559. 3
686340155560. 4

Question Number : 90 Question Id : 68634039386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FrefafEad el s ar e -
Ao
B. dd
C. HI&i

D, Y
E. ®H

= feu e fadedi & 9 998 SUgad IR &1 997 DI
1.Pdd A
2. &adl B
3. &ad D
4. BAUE

Options :




686340155557. 1
686340155558. 2
686340155559. 3
686340155560. 4

Question Number : 91 Question Id : 68634039387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fallacy of "Begging the question” is otherwise called as -

A. Non Causa Pro Causa

B. Plurium Interrogationum

C. Argumentum ad Ignoratiam
D. Petitio Principii

E. Argumentum ad verecundiam

Choose the correct answer from the option given below :

1. D only

| S

. C only
3.B only
4. A only

Options :

686340155561. 1
686340155562. 2
686340155563. 3
686340155564. 4

Question Number : 91 Question Id : 68634039387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST S 0T IPP o e Bl HERad 3 9 59 70 I 1 S 9 &

A IPRULHRY gy
B. §gURA &Y

C. 3{FHeID ik
D, ATHHT Y

E. 4GTHAP Jiad

-2 AU T fadedl & § Fel IR &1 98 DIT:
1.%dd D

PRI C

3. had B

4.6qd A

Options :

686340155561. 1
686340155562. 2
686340155563. 3
686340155564. 4

2

Question Number : 92 Question Id : 68634039388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following concepts are applicable in the Philosophy of Amartya Sen?

AL Nit1

B. Justice

C. Veil of Ignorance
D. Poverty

E. Fairness

Choose the correct answer from the option given below :

1. A.B. C only

| S

A, B.D only
3.B.C.D only
4.B.D.E only

Options :

686340155565. 1
686340155566. 2
686340155567. 3
686340155568. 4



Question Number : 92 Question Id : 68634039388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FefRgd O 9 31 9l el b U9 & g% O S udisd gldl g 2
A, Hifd
B. <
C. 3 BT S1aR0

D, fear
E. [Fegern

== feg T fawedt & 9 el IR &1 90 Bifo:
1.PdA A, B.C

. $auA.B.D

3.%ddB.C.D

4. %dUB.D.E

-2

Options :

686340155565. 1
686340155566. 2
686340155567. 3
686340155568. 4

Question Number : 93 Question Id : 68634039389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not an element of Samkhya Prakrti?
A Sattva
B. Rajas

C. Tamas
D. Manas

Choose the correct answer from the option given below :

1. Aonly

| B

. B only
3. C only
4. D only

Options :

686340155569. 1

686340155570. 2
686340155571. 3



686340155572 4

Question Number : 93 Question Id : 68634039389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

i Yhld &1 dd FEaRgd B 4 ®H a8 ¢ 2

A T
B. 7o
C. 7Y
D. Y

- feu T fawed! ® 9 el SIR @1 99 B
1. $dd A
2. Had B
3. %ad C
4.9qdD

Options :

686340155569. 1
686340155570. 2
686340155571. 3
686340155572. 4

Question Number : 94 Question Id : 68634039390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LISTII
A [Perception I. |Upamana
B. |Comparizon II. |Arthapatt
C. [Verbal Testimony] II1. [Sabda
D. |Presumption IV. |Pratyvaksa

Choose the correct answer from the options given below:

1. A-TV, B-III. C-1. D-IT

[

CA-IL B-1II. C-1II. D-IV
3. A-IV., B-1, C-III. D-I1
4. A-IV, B-1II. C-I1, D-I

Options :
686340155573. 1



686340155574. 2
686340155575. 3
686340155576. 4

Question Number : 94 Question Id : 68634039390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 ¥ e S
AT TS I
EREIG

[edafon I
GEEI 1L [3riaia
liecd es-WHT0] 111 [Tt
PEEll IV. [uege

FFrefaiad ol 4 O 98l 3R &1 994 S -

1. A-IV. B-III. C-1. D-II

ofo[w[s

| B

AL B-IIL C-III, D-IV
3. A-IV., B-1, C-III. D-I1
4. A-IV, B-1III. C-I1, D-I

Options :

686340155573. 1
686340155574. 2
686340155575. 3
686340155576. 4

Question Number : 95 Question Id : 68634039391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Earth 1. |JAP
B. [Water II. [Ksit
C. |Fire [I. Pviaror
D. A IV |Tg

Choose the correct answer from the options given below:

1. A-I. B-1I. C-III. D-IV

[

CA-IL B-IL C-IV. D-III

3. A-IV. B-IIL. C-II. D-I

4. A-IV. B-1. C-I1I, D-I1



Options :

686340155577. 1
686340155578. 2
686340155579. 3
686340155580. 4

Question Number : 95 Question Id : 68634039391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g 11 ¥ i S
g I T I
A, [oud I |3m
B [&d 1L [f&d
C. |3 L [F5d
D [ag A GE
fgfaiad fdeedl & 9 Tel STk &1 994 Sifoiy :

1. A-I. B-II. C-III. D-IV

| B

AL B-1L C-IV, D-III
3. A-IV, B-III, C-II. D-1
4. A-IV. B-1, C-I1I. D-IT

Options :

686340155577. 1
686340155578. 2
686340155579. 3
686340155580. 4

Question Number : 96 Question Id : 68634039392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Sankara 1. |Qualified Monism
B. [Ramanuja II. PMonism
C. Madhva 11 |Qualified dualism
D. |Vallabha IV, [Dualizsm

Choose the correct answer from the options given below:

1. A-IV. B-III. C-II. D-I

| )

. A-II. B-1. C-IV. D-III
3. A-L. B-I1. C-IIL, D-IV
4. A-IL. B-II1, C-1. D-IV

Options :

686340155581. 1
686340155582. 2
686340155583. 3
686340155584. 4

Question Number : 96 Question Id : 68634039392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 ¥ e S
g1 T I
A e 1. [fafp segd
B. RAS 1. [3gddla
C [a 111 [GRy-gd
D. [aeay V. [addrg
fafefad faeeal & T Tl SR &1 98- S :

1. A-TV. B-III. C-II. D-I

| B

AL B-LL C-IV, D-III
3. A-L, B-II. C-III, D-IV
4. A-I1, B-1II, C-1, D-IV

Options :

686340155581. 1
686340155582. 2
686340155583. 3
686340155584. 4



Question Number : 97 Question Id : 68634039393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A Dharma I |Annihilation
BE. |Artha II. [Desire
C. |[Kama [II. |Wealth
D. Moksa IV |Obligation

Choose the correct answer from the options given below:

1. A-TV, B-III. C-II. D-I

[

CA-IL B-1II. C-1II. D-IV
3. A-IV, B-II, C-III, D-1
4. A-I1, B-1, C-IV, D-III

Options :

686340155585. 1
686340155586. 2
686340155587. 3
686340155588. 4

Question Number : 97 Question Id : 68634039393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 g 11 ¥ e Sl
T 1 T 0
A | 1 [S=ded (THfeTEH)
B. |3l II. [®1EAT
C. o™ 1L [
D. [F1af V. [
Fafaiad fasedl O ¥ 9gl 3R &1 994 DI -

1. A-IV. B-III. C-II. D-1

| B

.A-L B-II. C-III. D-IV
3. A-IV. B-II. C-III. D-I
4. A-IL. B-1. C-IV. D-III

Options :

686340155585. 1

686340155586. 2
686340155587. 3



686340155588. 4

Question Number : 98 Question Id : 68634039394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Figures of Syllogism) LISTII

A 1% Figure L

B. |78 Figure II.

C. |zrd Figure 1II.

N

D. gt Figure V.

Choose the correct answer from the options given below:

1. A-I. B-1I. C-III. D-IV

-

2. A-IV. B-III, C-II. D-1
3. A-L, B-IIL, C-II, D-IV
4. A-IV, B-11, C-I11, D-I

Options :

686340155589. 1
686340155590. 2
686340155591. 3
686340155592. 4

Question Number : 98 Question Id : 68634039394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=i 1 % 91y Gl 11 7 A eife
I 10T 9T 3 TPl T 11

e [N
B. [t oty wf
C. [qdig npfd m| |
D. [aqd sm@fd V. Z
At feu TTE fdwedl # 9 9el I &1 997 Do

1. A-1. B-II. C-1I1, D-IV

[ )

CA-TV, B-IILL C-I1L D-1

[ ¥%]

. A-L B-IIL. C-IL. D-IV
4. A-TV. B-II. C-III. D-I

Options :

686340155589. 1
686340155590. 2
686340155591. 3
686340155592. 4

Question Number : 99 Question Id : 68634039395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

Propositional Relations -

LIST1 LISTII
F.elation of 'A' with 'E'| 1. |Contradictory
Relation of "A" with T | I |Sub-Altern
F.elation of "A' with 'O 11 [Sub-contrary
Relation of T with 'O | IV, [Contrary

REE

Choose the correct answer from the options given below:
1. A-L. B-II. C-III. D-IV
2. A-IV. B-II. C-1. D-III
3. A-IV. B-II1, C-II. D-1
4. A-II1. B-I. C-II. D-IV

Options :
686340155593. 1



686340155594. 2
686340155595. 3
686340155596. 4

Question Number : 99 Question Id : 68634039395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it 1 % 1Y Gl 11 BT e $ifoe

eiTRE gy

el Tt
A HI'E & Uy Yay| 1 [l
A BT & O ey | I [3Unda
A'B1'O o g1y g L [s -9l
T @10 @ O gay | v e
1= feu e faeedl & @ 9 3k &1 984 S

1. A-1, B-II. C-III, D-IV

ofc[w]>

b2

CA-IV. BAILL C-1L D-III
3. A-IV, B-111, C-II, D-I
4. A-IIT. B-1. C-II, D-IV

Options :

686340155593. 1
686340155594. 2
686340155595. 3
686340155596. 4

Question Number : 100 Question Id : 68634039396 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Simone de Behaviour talked about the right of women to vote and have other political rights.
Reason R : First wave feminism focused on political rights of the women.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A.

[ )

. Both A and R are true but R 1s NOT the correct explanation of A.
3. Ais true but R 1s false.

4. A 1s false but B is true.

Options :
686340155597. 1



686340155598. 2
686340155599. 3
686340155600. 4

Question Number : 100 Question Id : 68634039396 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 2 2 (ST T & U U UT (Assertion A) & =0 H [¢11&d § Al GH 3TDb BRI (Reason R) &
SO

HfHEHYT A - THH g 93aR 3 Biearsd & IaffeR Ud 3 Io-de JeRi st gai 31 g |
SRR : ARIAIE B UUH Tex Afeesf & Io-ias AfUeRi R &l of |

QWRIFI BYF o @D H, id [T T [ddped] § 9 ol IR &1 999 Hifol |

1.ATUTR S Tl & dUTR, AP Jo!l U &

2. ATGUIR &HI 98! 5. Al R. A & gl AR ol ©
3.ATE R AMGIR G TR

4 AFEI RIS APIR TEI §

Options :

686340155597. 1
686340155598. 2
686340155599. 3
686340155600. 4




